Seat No. / Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Engineering — SEMESTER -4 (NEW) - EXAMINATION — Winter-2024

Subject Code: 4341901 Date: 22-11-2024
Subject Name: Estimating, Costing and Engineering Contracting
Time: 02:30 PM TO 05:00 PM Total Marks: 70

Instructions:

1. Attempt all questions.
2. Make Suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Use of simple calculators and non-programmable scientific calculators are permitted
5. English version is authentic.
Marks
Q.1 | (a) | Write down the difference between estimating and costing. 03
U1 | () | delor 4 WA gAsi) dsldd dud. 03
(b) | Explain any Four elements of costs for selling price. 04
() | AUIRA(EHA HIZell Wil S1EURL AR dral Ao, 0¥
(c) | A factory produces 496 bottles per day. The direct material cost is found to be Rs. | 07
2500, the direct labour cost is Rs. 4700 and factory overhead chargeable is Rs. 5200.
If the selling overhead is 30% of the factory cost, what must be the selling price of
each bottles to realise the profit of 25 % of the selling price?
(5) | W5 5523 A%ell 496 <19l K126l tielld B SIS HSRUA WA . 2500 8. | 09
SIS UL WA 2+, 4700 B A U1 53] 2SI ddl §523] (1A Wy
2.5200 8. %) AULRL (21U Wl F523] Wlsll 30% Sl dl €35 elled UR
defl AYLQL (SHdell 25% <1l Roiddl HI2 defl dALRL (EHd Ak
OR
(c) | A machine is purchased for Rs. 60,000 and its expected life is 13 years. Its Scrap value | 07
is Rs. 28,000. It 9% interest is charged on depreciation fund, Find the depreciation rate
by straight line & sinking fund method.
(5) | A5 Hellel 22.60,000 Hi WledlHi 21d B. Ao viell¥d 2dal 13 dN B, | 09
defl 3U (5Hd 2.28,000 B.dell YU IR ¢S101 UR 9% 1% @dALSCUIH] 41d
dll el ell®yet A [Reslal §Seil Tdell dulRledl €2 2k,
Q.2 | (a) | Draw the Break Even Chart indicating Break Even Point. 03
UsL2 | () | WS 8del Ulgeea) HAddl Qs 8dst AL2 €121 03
(b) | Explain the importance of break-even point (BEP) in industry. 04
(@) | G Ws-8del U2 (BEP) of Hecd uHodl. oY
(c) | The fixed cost of an industry is Rs. 75,000. The variable cost of each product is Rs.700. | 07
if the break even number is 750 find the selling price of each product. What will be
profit if industry produces 1200 products?
(5) | s G52 IUL [55US 5122 2. 75,000 B 35 USSR €16 UlAd WA . 700 | 09
8. %l WS Sdel duR 750 1A dl €35 Ulsseell dUIQL [sHd 2lltl. %)
5221 1200 UIS52 Wsild dl 526 1§l HQl ?
OR
Q.2 | (a) | Explain Margin of safety and its importance. 03




usl2 | () | As2) Hilsel el dof Hecd UHoxtdl. 03

(b) | Define following terms with example of it. 04
(i) fixed costs (ii) variable costs

() | «llAell 2loe] dell GelsL UI8 cAlUALRId 3. ¥
(i) A1 v (i) Aled vl

(c) | A manufacturing unit having fixed cost of Rs. 1,75,000 is selling their product ata | 07
price of Rs. 4 per unit. Material cost per product is Rs. 1.25 and other variable cost per
unit is Rs. 1.50 find break-even point graphically.

(5) | 98 GUlest WsHetl RURI WA 2. 1,75,000 O d Uld UISs2 . 4 +{l AYIQL | 09
[sUA Uldlefl Vlsseds] AUl $2 8. Uld Ulsse HI2RUE WU . 1.25 34a
o] UlAd WA MLSS2 0. 1.50 B. ALseil d 6l el Ul Q0lell.

Q.3 | (a) | Define Pattern and Explain any two pattern allowances. 03
U3 | () | Uest cluAlRld 520 ual 516Ul ) Ut W et |Gl UMdl, 03

(b) | Explain different types of forging losses. 04

(@) | [aldy usiRetl 11 el R qHomdl, oy

(c) | A container open on one side of size 0.5 x 0.5x 1 m height is to be made from plates | 07
of 6 mm thickness. Take density of plate metal at 8 gm/m?® and joints are to be welded.
Estimate the cost of containers from the following data :

Cost of plate = Rs. 50/kg

Sheet metal scrap = 5 % of material

Cost of labour = 10 % of material cost

Cost of welding material = Rs. 30 per m of weld.

(5) | s ULosYUl wlue Adl 0.5 x 0.5x 1 m QUGN $2ea 6 mm | ©9
el sAudlull Wen (el wellddlell 8. Wesil geidl 8 gm/m? Ua da d(e53)
o\ge2eil Watldallell & dl «{lAell Seleil Heeell sRe1R4(] s12e QA
Weof] 512 = 2. 50/kg
9le Hed By = HlRudell 5%

AulR sl = HElRUM slreell 10 %
A5l (sHd = 0. 30/m des duiLeS
OR
Q.3 | (a) | Explain procedure of estimating cost of pattern making. 03
UeL3 | () | Yo A5 wRlell el scllofl sl qHomdl, 3
(b) | Define forging and explain various types of forging operation. 04
() | S1LA VAR 5] wal [dllcel UsiRell §1(%01 wluRLled Ml ¥
(c) | Explain the cost estimation of solar rooftop plant with subsidy. 07
(5) | AU U AR w521 Wloeil [SHdell vl A, 09
Q.4 | (a) | Define (1) cutting speed (2) depth of cut (3) feed. 03
Usl4 | (M) | (9 slea1 ls (R) Sl uls s (3) 61 A cUlwALRId 521, 03
(b) | Write the procedure of estimating cost of power plant by diesel generating set. 04
(W) | Slodvd %e13(231 A2 GIRL Ulddl UldR Wlegef] s122 WAL ulsul quil. | oy
(c) | Determine time required for preparing M.S. bolt M 20x 3 mm by single point cutting | 07
tool with a cutting speed 8 m/min and length of threaded portion is 40 mm. Consider
No. of cuts required for threading is 10.

(5) | Ride Ulgee s(291 2defl Heeel M 20x 3 mm HlUell WH WY e | ©9
Getldal HIS YHYeAl A-LdR] 821, (231 ~ilS 8 m/min Aa Ailel duiLes
40 mm B8.815 Ulsdl HIS 10 52 3 8.

OR
Q.4 | (a) | Explain an importance of estimating process cost. 03
usla | () | Ulsdl Wl w{eloge] Hecd yHmd). 03




(b) | Explain the method for finding time for turning operation performed on Lathe | 04
Machine.
(&) | A Heflel UR scliMi wlddl (21 3Ueled HI2 M1 2MHdlsf] 2ld ¥
A4,
(c) | Calculate the grinding time to reduce 15 cm long steel shaft from 4 cmto 3.8 cmin | Q7
diameter with a grinding wheel having 2 cm face width. Cutting speed is 15 m/min and
depth of cut = 0.25 mm can be assumed.
(5) | 15 cm GULSHI Ls2et] Al AL (531 53] 4 cm €l 3.8 cm @B2dl €lelsdl | o9
Hl2ell YHAUe(l AR $ALAB[S59L celdefl Fyeil usloug 2 cm 8. s(2a1
14l 15 m/min ¥al s2¢il GISIE 0.25 mm 8.
Q.5 | (a) | Write short note on (1) Tender form (2) Security bond. 03
UaL5 | ) | (1) 2052 S1H (2) ISR 6ileS UR &5 ofltl qudl. 03
(b) | Write a short note on E- tendering. 04
(W) | ©-255331 UR &5 il qul). oY
(c) | Anice plant using Ammonia refrigerant is producing 160 KW refrigerating effect. The | 07
evaporator of the plant is rejecting 1000 kJ/kg of heat theoretically. Theoretical
compressor input 185 kJ/kg. Mechanical efficiency of the plant is 85 % for compressor
is to be taken into calculation. Actual heat absorption in the cold chamber is 80 %
.plant is operating 24 hours daily. If power cost is Rs. 12 per unit and Labour cost is
Rs. 2200 per day then considering other overhead cost of Rs.5400 per day, estimate
the cost of production of ice per kilogram.
() | ML RglogRedlonl As AIBY Wi iRl 160 kW §1%3 8552 | 09
Geusi Al 8. Wleeell §AUleR el 1000 kikg B2l Gl Aegilds
Ad RPse s B. Asgilds SHAUR Selye 185 kilkg B. el (H3[-1s5a
stletddl 85 % ofl SNU HI AR Adlef]l B.51es oM W s
Sl2 Nold2lel 80 % 1Y V. Wlo 24 561s 514 & B. UldR W U[d
Y[t 2. 12 el HoRl W 2. 2200 Ul (€t E1U dl Ao [2IRAUI] W 2=,
5400/-W[c (€1 tIZlA Uld (5E1AMH MU Gllgel WU vig o).
OR
Q.5 | (a) | Write merits and demerits of contract. 03
UALS | (M) | 520201 S1UEL A ARSIUEL QUL 03
(b) | List the types of budgets and explain any one in detail. 04
(H) | WReell UsiRlefl YRl colld] W S1TURL W sal (dddd iR UM, oY
(c) | A thermal power plant produces 80 Mw to satisfy maximum demand. Load factor of | Q7
plant is 40 %. Estimate power cost per unit for power produced by this plant, operating
cost Rs.1.95/kWh.capital cost Rs. 20/kW.Consider interest and depreciation @12 %
(5) | us YHd uldR WieeH| HedH Hidla Y3l sl HI2 80 MW UldR Geusl | ©9

5 241 8. dlS 5522 40 % 9. % U231 5122 2.1.95 Uld kWh €l
dl As Yledeal Gaulestoll WA 2NHl. 3Ued Sl . 20 Uld kW dell
SR w1 o €2 12 % HIR).




